@ DA. f{ Negative Exponents of 10 (Power of 10)

Name: Date: Score:
1070 = 1003 =
—2x 10> = 482,6 x 1002 =
150,9 + 1002 = 100D =
107 = 711,4 x 107D =
8x 10 = 1 x100% =
5x10= 2% 1003 =
1071 = 572,7+ 1072 =
658 + 1001 = 473,7 x 1009 =
209 x 1007 = 1009 =
109 = 7x10° =

www.snowmath.com


https://www.snowmath.com

@ DA. f{ Negative Exponents of 10 (Power of 10)

Name: Date: Score:
1077 =0.1 107 = 0.001
2% 10% = —200 482,6 x 1002 = 4.826
150,9 + 102 = 15090 1077 = 0.1
107° = 0.001 711,4 x 1079 = 71.14
8 x 10 = 80 1 x 107 = 0.0001
5% 10 = 50 —2x 107 = —0.002
1077 = 0.1 572,7+ 1072 = 57270
658 + 100" = 6580 473,7 x 10°% = 0.04737
209 x 107 = 0.209 107 = 0.0001
107 = 0.001 7x10° =7
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